

Shaping global leaders for tomorrow

Ref: IMIB:Lib18/01 Date: 02.04.2018

APPROVAL FOR PAYMENT

Sub: Approval for Newspaper bills for the month of March 2018.

The Newspaper bills for the month of March 2018 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our institute (Administration Block, Library & Hostel Building) are detailed as follows:

Administration

S. No	Newspaper	Copies Subscribed	Copies Received	Amount	Description
1	Times of India	three	87	120*3 = 360.00	Front Office, Director Office,
					Guest Area - Admin
2.	Telegraph	one	29	150.00	Front Office
3	Dharitri (Odia)	one	29	145.00	Front Office
4	Economic Times	two	58	153.50*2 = 307.00	Front Office, Director Office
	Four Newspapers	7 Copies			Total Amount - 967.00

Library Copies Subscribed **Copies Received Amount** Newspaper S. No 149.00 29 **Indian Express** one 29 120.00 2 Times of India one 29 155.00 Telegraph one 3 29 310.00 Hindu 4 one 29 145.00 5 Dharitri (Odia) one 29 87.00 one Pioneer 29 145.00 Samai (Odia) one 29 145.00 8 Statesman one 116 614.00 **Economics Times** Four-9 800.00 100 **Business Line** Four 10 100 696.00 Four 11 **Business Standard** Total Amount - 3366.00 **Eleven Newspapers Twenty Copies**

S. No	Newspaper	Copies Subscribed	Amount	Description	
1	Economic Times	Ten	153.50*10 = 1535.00	Five common room of Hostel Building	
2	Business Standard	Ten	174.00*10 = 1740.00	Five common room of Hostel Building	
I WO N	wo Newspapers Twenty Copies		Total Amount - 3275.00		

The monthly bills for the month of March is attached for kind reference.

Total Round off amount Rs. 7608.00/- (Rupees Seven Thousand Six Hundred and Eight only)

It is submitted for kind approval for payment of Rs. 7608.00- (Rs. Rupees Seven Thousand Six Hundred and Eight only) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor for the above month.

Enclosed: - Newspaper Bills

Arvind Negi

Initiator

R. G. Chardhury Prof. R. G. Choudhury

Chairperson - Library

Mr. Pranab Ghosh

Manager-F&A

Mr. Arup Kr. Sil

CAO

CASH/CREDIT MEMO Mob.: 9439301398

ТКА МОНАИ МОНАРАТКА

NEWS PAPER AGENCY

KIA, KALINGA NAGAR, BHUBANESWAR-3 Rhy pone great chrady. SI. No. 8/07/10/18

2018

e Month of Manch

AMOUNT Rate **PARTICULARS**

ndian Express [Fimes of India | Telegraph L 31-Dues

-lindu L ଧରିତ୍ରୀ

3/0

and fromeed

SPIIG L

gestar status men L

TOTAL 3366 PT Economous Toward 13 soxther G 1401 ASPERTATION STONE BY STONE GOOD B. Line. 2000 00 X 4 PCE

Ebedyn mount modification

31-03-2018

Payment Date

es)------

CASH/CREDIT MEMO Mob.: 9439301398

PABITA MOHAN MOHAPATRA **NEWS PAPER AGENCY**

GHATIKIA, KALINGA NAGAR, BHUBANESWAR-3

SI. No. Date (214)

3ill for the Month of

360 3 2070 458 TOTAL 9672 AMOUNT Rs. Rate Times of India 1 124 to X BPC= SPING FORMORY TOWNS **PARTICULARS** Indian Express Felegraph L B. Dues ସାସାହିକ ପ୍ରମେନ୍ଦ ଧରିତ୍ରୀ Hindu 20 Qnty.

Rupees Date: Cash F nent Date

(E) Signature

Mob.: 9439301398 CASH/CREDIT MEMO

PABITRA MOHAN MOHAPATRA **NEWS PAPER AGENCY**

GHATIKIA, KALINGA NAGAR, BHUBANESWAR-3

2 Law Londer, 201 SI. No. Date (

Bill for the Month of

-	<u>a:</u>	€ 8	1
AMOUNT	Rs.	538	7 67
	Rate	7 2 2 1	
	PARTICULARS	B-Dues, lostian-Express Times-of-India Nindth Flohomous/Found Common Stands Stands 53.50 × 10 Pc = Stands 74.00 × 10	
	Cnty.	380	

Date 31 23-2018 (Rupees ,

Cash Payment Date





Shaping global leaders for tomorrow

Ref: IMIB:Lib17/79 Date: 07.03.2018

APPROVAL FOR PAYMENT

Sub: Approval for Newspaper bills for the month of February 2018.

The Newspaper bills for the month of February 2018 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block, Library, Hostel Building & MDP Building) are detailed as follows:

Administration

S. No	Newspaper	Copies Subscribed	Copies Received	Amount	Description
1	Times of India	three	84	116*3 = 348.00	Front Office, Director Office, Guest Area - Admin
2	Telegraph	one	28	150.00	Front Office
3	Dharitri (Odia)	one	28	140.00	Front Office
4	Economic Times	two	56	154.50*2 = 309.00	Front Office, Director Office
·	Four Newspapers	7 Copies			Total Amount - 947.00

S. No	Newspaper	Copies Subscribed	Copies Received	Amount
1	Indian Express	one	28	144.00
2	Times of India	one	28	116.00
3	Telegraph	one	28	150.00
4	Hindu	one	28	256.00
5	Dharitri (Odia)	one one	28	140.00
6	Pioneer	one	28	84.00
7	Samaj (Odia)	one	28	140.00
8	Statesman	one	28	140.00
9	Economics Times	Four	112	618.00
10	Business Line	Four	96	768.00
1,1	Business Standard	Four	96	648.00
	Eleven Newspapers	Twenty Copies	Total A	Amount - 3204.

	Hostel Building			
S. No	Newspaper	Copies Subscribed	Amount	Description
1	Economic Times	Ten	154.50*10 = 1545.00	Five common room of Hostel Building
2	Business Standard	Ten	162.00*10 = 1620.00	Five common room of Hostel Building
Two Newspapers Twenty Copies		Tota	Amount - 3165.00 /	

S. No	Newspaper	Copies received	Copies Received	Amount	Description
1	Times of India	two	6	24.00	MDP Building
2	Economic Times	two	3@ 3.50/ 3@ 10.00	10.50 + 30.00	MDP Building
rwo N	ewspapers	Four Copies		Total	Amount - 64.50

The monthly bills for the month of February is attached for kind reference.

Total Round off amount Rs. 7380.00/- (Rupees Seven Thousand Three Hundred and Eighty only)

It is submitted for kind approval for payment of Rs. 7380.00- (Rs. Rupees Seven Thousand Three Hundred and Eighty only) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor for the above month.

Enclosed: - Newspaper Bills

Arvind Negi Initiator

R. G. Choudhury Prof. R. G. Choudhury Chairperson - Library Mr. Pranab Ghosh Manager- F & A

Prof. R. K. Panikrahi 'Chairperson - Purchase

Any 509/3/18

Mr. Arup Kr. Sil

PABITRA MOHAN MOHAPATRA **NEWS PAPER AGENCY**

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3

Bill for the Month of-

ory	DARTICULA DO	Rate	AMOUN	AT.
seney.	PARTICULARS	Kate	Rs.	P.
84 18 28 56	B. Dues Indian Express Times of India) [[6.00 X3] Telegraph [Hindun] ปถิตา (Dhandran) [L] ସମ୍ପାଦ ET - 154.50 Xaf ସମ୍ପାଜ ପ୍ରମେୟ ସାପ୍ରାହିକ		348 150 140 309	88888
		TOTAL	947	00

(Rupees).....

Date:

Cash Payment Date

Signature

CASH/CREDIT MEMO Mob.: 9439301398

PABITRA MOHAN MOHAPATRA **NEWS PAPER AGENCY**

GHATIKIA, KALINGA NAGAR, BHUBANESWAR-3

Date 07/02/20

	PARTICULARS	Rate	AMOU	VT
Onty.	PARTICULARS	Nate	Rs.	P
66	B. Dues Detr- 16 Feb to Indian Express Et. 3 Co. Times of Indian 20-3 C	00 ×	24 100	50
		TOTAL	01	-

PABITRA MOHAN MOHAPATRA

NEWS PAPER AGENCY

GHATIKIA, KALIMGA NAGAR, BHUBANESWAR-3.

bour Bill for the Month of-**AMOUNT PARTICULARS** Onty. Rate BUDWAS Indian Express Times of India Telegraph 1 Hindu (_____ ଧରିତୀଥ and Proness OFFIRE STOO 768 TOTAL

(Rupees).....

Date:

Cash Payment Date

CASH/CREDIT MEMO

Mob.: 9439301398

PABITRA MOHAN MOHAPATRA

NEWS PAPER AGENCY

GHATIKIA, KALINGA NAGAR, BHUBANESWAR-3

Date 07

209	the Month of		AMOUN	T
ZENY.	PARTICULARS	Rate	Rs.	P
280 240	B. Dues Indian Express Firmes of India Telegraph Fanomby Tong thindu 15450x10 Elas Pasones Stanfor Elas 162.00 x10pc = Elas 162.00 x10pc = Elas 162.00 x10pc =	PC=	1545	a
		TOTAL	3)65	0

(Rupees).....



Shaping global leaders for tomorrow

Ref: IMIB:Lib17/74 Date: 07.02.2018

APPROVAL FOR PAYMENT

Sub: Approval for Newspaper bills for the month of January 2018.

The Newspaper bills for the month of January 2018 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block, Library, Hostel Building & MDP Building) are detailed as follows:

Administration

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	three	Daily 4.00	90	124*3 =	Front Office, Director Office,
			Sunday 5.00		372.00	Guest Area - Admin
2	Telegraph	one	Daily 5.00, Wed	30	161.50	Front Office
			6.50, Sun 6.00			
3	Dharitri (Odia)	one	Daily 5.00	30	150.00	Front Office
4	Economic	two	3.50/10.00 on Sat	60	157*2 =	Front Office, Director Office
	Times		& Sun		314.00	
Fo	ur Newspapers	7 Copies		Total Amo	unt - 997.50	

Library

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount
1	Indian Express	one	5.00/6.00 on Sunday	30	154.00
2	Times of India	one	4.00/5.00 on Sunday	30	124.00
3	Telegraph	one	5.00 Daily, 6.50 on wed, 6.00 on Sunday	30	161.50
4	Hindu	one	8.00 Daily,15.00 on Sunday	30	276.00
5	Dharitri (Odia)	one	5.00 Daily	30	150.00
6	Pioneer	one	3.00 per day	30	90.00
7	Samaj (Odia)	one	5.00 Daily	30	150.00
8	Statesman	one	5.00 Daily	30	150.00
9	Economics Times	Four	3.50/ 10.00 sat & sun	120	628.00
10	Business Line	Four	8.00 per day -Sunday holiday	108	880.00
11	Business Standard	Four	6.00/ 9.00 Saturday,	104	688.00
J	Eleven Newspapers	Twenty Copies	Sunday holiday	Total Amour	nt - 3451.50

· Hostel Building

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Economic Times	Ten	3.50/10.00 on Sat & Sun	300	157*10 = 1570.00	Each floor common room of Hostel Building
2	Business Standard	Ten	6.00/ 9.00 Saturday Sun- Holiday	260	172.00*10 = 1720.00	Each floor common room of Hostel Building
Two	Newspapers	2	20 Copies	Total Amoun	t - 3290.00	

MDP Building Newspaper for BDE Induction Axis Bank Programme from 15th Jan to 20th Jan

S. No	Newspaper	Copies subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	two	4.00	12	48.00	MDP Building
2	Economic Times	two	3.50/ 10.00 on Sat	10 @ 3.50 2 @ 10.00	35.00 20.00	MDP Building
3	Dharitri (Odia)	two	5.00	12	60.00	MDP Building
4	Sambad (Odia)	two	5.00	12	60.00	MDP Building
F	our Newspapers	8 Copies	Total Amount	t - 223.00		

Therefore, total amount for all sections where newspaper received as per requirement.

1. Administration - 997.50	4
2. Library - 3451.50 /	
3. Hostel Building - 3290.00 /	
4. MDP Building - 223.00 /	
Grand Total - 7962.00 /	

The monthly bills for the month of Japuary is attached for kind reference.

Total Round off amount Rs. 7962.00/- (Rupees Seven Thousand Nine Hundred and sixty two only)

It is submitted for kind approval for payment of Rs. 7962.00- (Rs. Rupees Seven Thousand Nine Hundred and sixty two only) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor for the above month.

Enclosed: - Newspaper Bill, Email to arrange newspaper for MDP Building.

Arvind Negi Initiator Mr. Pranab Ghosh Manager- F & A

Mr. Arup Kr. Sil

CAO

R. G. Choudhury
Prof. R. G. Choudhury
Chairperson - Library

Chairperson - Purchase

NAN LO TOU TAN

CASH/CREDIT MEMO

Mob.: 9439381398

PABITRA MOHAN MOHAPATRA

	MINIA, NALINGA NAGAR,	BHUBA	NESWAR	-3
Date	FIRE CV A	SI No.		
To-	MI College DA	buce	y OFF	ICE
50	the Patana Blubo	STOCKHOLD HERED		
Bill fo	r the Month of January	- 20	18	
Qnty.	PARTICULARS	Rate	AMOUN	T.
	We Bell to		Rs.	P.
	B Dues			
GA	Indian Express			
90	Times of India 124m x 3	κ	372	COLUMN TWO IS NOT
	Phinod()	* * *	161	Sq
30	ଧରିତୀ 🕒			
60	AND Forundes Tomics		[204	20
المقا	STANDED TO LOUNCE TO MAKE		A 14	77
	UPIA 15700X2P		314	7
	0684	10 x x x		4
	ମାଠାତିକ			9
HP				4
				3
*:		TOTAL	1975	50
190		A. 1985 - 4 16.		

Date : Cash Payment Date

Signature

ect:

IMI Bhubaneswar Library
Friday, January 12, 2018 2:45 PM
Subrata K Seth; Nasima Begum; Arvind Negi; Mr Rahul Gupta Choudhury
FW: News Paper, dated on (15th jan- 20th Jan) 2018 at MDP Ground Floor.(Axis Bank BDE)

From: Diganta Saha

Sent: 12 January 2018 14:44:53 (UTC+05:30) Chennai, Kolkata, Mumbai, New Delhi

To: IMI Bhubaneswar Library Cc: Mr Arup Sil; Minoo Gupta

Subject: Fw: News Paper, dated on (15th jan- 20th Jan) 2018 at MDP Ground Floor.(Axis Bank BDE)

Please Ignore the previous mail.

Please arrange News Paper, dated on (15th Jan-20th Jan) 2018 at MDP Ground Floor. (Dinning Area)

News paper are,

1. 02nos. of TOI

2. 02nos. of ET

3. 02 nos. of Dhatari

4. 02 nos. of Shambad

Regards;



Diganta Saha.

INTERNATIONAL MANAGEMENT INSTITUTE.

BHUBANESWAR. Mob:09776942230

From: Diganta Saha

Sent: Friday, January 12, 2018 2:41 PM

: IMI Bhubaneswar Library Cc: Mr Arup Sil; Minoo Gupta

Subject: News Paper, dated on (20th jan- 25th Jan) 2018 at MDP Ground Floor.(Axis Bank BDE)

Dear all;

Please arrange News Paper, dated on (20th Jan- 25th Jan) 2018 at MDP Ground Floor (Dinning Area)

News paper are,

1. 02nos. of TOI

2. 02nos. of ET

3. 02 nos. of Dhatari

4. 02 nos. of Shambad

Regards;



Diganta Saha.



Shaping global leaders for tomorrow

Ref: IMIB:Lib17/66 Date: 12.01.2018

APPROVAL FOR PAYMENT

Sub: Approval for Newspaper bills for the month of December 2017.

The Newspaper bills for the month of December, 2017 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block, Library, Hostel Building & MDP Building) are detailed as follows:

Administration

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	three	Daily 4.00 Sunday 5.00	93	129*3 = 387.00	Front Office, Director Office, Guest Area - Admin
2	Telegraph	one	Daily 5.00, Wed 6.50, Sun 6.00	31	166.00	Front Office
3	Dharitri (Odia)	one	Daily 5.00	31	155.00	Front Office
4	Economic Times	two	3.50/10.00 on Sat & Sun	. 62	173.50*2 = 347.00	Front Office, Director Office
Fo	ur Newspapers	7 Copies		Total Amor	unt - 1055.0	0

Library

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount
1	Indian Express	one	5.00/6.00 on Sunday	31	160.00
2	Times of India	one	4.00/5.00 on Sunday	31	129.00
3	Telegraph	one	5.00 Daily, 6.50 on wed, 6.00 on Sunday	31	166.00
4	Hindu	one	8.00 Daily,15.00 on Sunday	31	283.00
5	Dharitri (Odia)	one	5.00 Daily	31	155.00
6	Pioneer	one	3.00 per day	31	93.00
7	Samaj (Odia)	one	5.00 Daily	31	155.00
8	Statesman	one	5.00 Daily	31	155.00
9	Economics Times	Four	3.50/ 10.00 sat & sun	124	694.00
10	Business Line	Four	8.00 per day -Sunday holiday	104	832.00
11	Business Standard	Four	6.00/ 9.00 Saturday,	104	684.00
F	Eleven Newspapers	Twenty Copies	Sunday holiday	Total Amoun	t - 3506.00

Hostel Building

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Business Standard	Ten	6.00/ 9.00 Saturday Sun- Holiday	260	171.00*10 = 1710.00	Each floor common room of Hostel Building
2	Economic Times	Ten	3.50/10.00 on Sat & Sun	310	173.50*10 = 1735.00	Each floor common room of Hostel Building
Two	Newspapers		20 Copies	Total Amoun	t - 3445.00	V

MDP Building Newspaper for Room No. 201 from 4th Dec to 8th Dec (Visit of IMI, DG)

S. No	Newspaper	Copies subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	one	4.00	5	20.00	MDP Building
(One Newspaper	1 Copy		Total Amount -	20.00	

MDP Building Newspaper for BDE Induction Axis Bank Programme from 11th Dec to 16th Dec

S. No	Newspaper	Copies subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	two	4.00	12	48.00	MDP Building
2.	Dharitri (Odia)	two	5.00	12	60.00	MDP Building
3	Sambad (Odia)	two	5.00	12	60.00	MDP Building
4	Economic	two	3.50/	10 - 3.50	55.00	MDP Building
•	Times		10.00 on Sat	02 - 10.00	55.00	MDP building
Fo	our Newspapers	8 Copies		Total Amount -	223.00	

Therefore, total amount for all sections where newspaper received as per requirement.

1. Administration - 1055.00 /	
2. Library - 3506.00 /	
3. Hostel Building - 3445.00 /	
4. MDP Building - 243.00 / -	(223.00 + 20.00)
Grand Total - 8249.00 (

The monthly bills for the month of November is attached for kind reference. Total amount Rs. 8249.00/- (Rupees Eight Thousand Two Hundred and Forty Nine only.)

It is submitted for kind approval for payment of Rs. 8249.00- (Rs. Eight Thousand Two Hundred and Forty Nine only.) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor for the above month.

Enclosed: - Newspaper Bill, Email to arrange newspaper for MDP and email to start one copy of Business standard & the economic times for each common rooms of Hostel Building (In hostel Building 5 common rooms are available).

Arvind Negi **Initiator**

Mr. Pranab Ghosh Manager-F&A

Mr. Arup Kr. Sil **CAO**

R. G. Chardhay Prof. R. G. Choudhury

Chairperson - Library

Prof. R. K. Panigrah

Chairperson - Purchase

Mob.: 9439301398 CASH/CREDIT MEMO

BITRA MOHAN MOHAPATRA **NEWS PAPER AGENCY**

ATIKIA, KALINGA NAGAR, BHUBANESWAR-3

Śl. No.

rthe Month of December - 2017 Materia, Bhubone few 8 herey

TOTAL 35060 66 8 50 AMOUNT 629 255 283 694 4888 00 Rs. Rate Bussing Line-208 cox 4007 -STORY SCOROLL TOWNERS L Bassing Ston Lord Charles Many 1 **PARTICULARS** ndian Express Fimes of India! Telegraph L ଅରିତୀ 🏻 Hindul

Rhishmoli moletyte Signature nees).....

n Payment Date

Mob.: 9439301398 CASH/CREDIT MEMO

РАВІТКА МОНЯМ МОНЯРАТКА **NEWS PAPER AGENCY**

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3

Phubone gear? Date

Bill for the Month of December - 2017

3470 TOTAL 1055 PD 5500 AMOUNT Rs. Rate Times of India 129100139 GRIA Ecnomous Tomes Telegraph XIPC 173.50 X2PC N/R PARTICULARS Andier Express B. Dues ସାସାହିକ JI SUR SPRO / छिल्हाब Hipoth 10/0/ 6

(Rupees)..... Date: Cash Payment Date

Holoda Molin Moleda Signature

Mob.: 9439301398 CASH/CREDIT MEMO

рявіткя монян моняряткя

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3 NEWS PAPER AGENCY

College - Mil & Coult Pales ". Rhubone 80008

Bill for the Month of December - 2017 Cothalatana

TOTAL 243 40 33 AMOUNT 40 500 09 00 20 Rs. Rate Felegraph M.P-11-10/6-12-1915 genta E.T-1010×3.50= 2PC × 10:00 = 10,7×4,00 == X400 Mindy 276 Each Perfes 1 00.5 X = asisx PARTICULARS Times of India LProvient Express SAND-E 159BK DISIG [O در In

Cash Payment Date (Rupees) Date:

Glody maln motatet Signature





Shaping global leaders for tomorrow

Ref: IMIB:Lib17/58 Date: 05.12.2017

APPROVAL FOR PAYMENT

Sub: Approval for Newspaper bills for the month of November 2017.

The Newspaper bills for the month of November, 2017 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block, Library, Hostel Building & MDP Building) are detailed as follows:

Administration

S. No	1	Copies Subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	three	Daily 4.00 Sunday 5.00	90	-124*3 = 372.00	Front Office, Director Office, Guest Area - Admin
2	Telegraph	one	Daily 5.00 Wed 6.50 Sun 6.00	30	161.50	Front Office
3	Dharitri (Odia)	one	Daily 5.00	30	150.00	Front Office
4	Economic Times	two	3.50/10.00 on Sat & Sun	60	157.00*2 = 314.00	Front Office, Director Office
Fo	ur Newspapers	7 Copies		Total Amou	int - 997.50	

Library

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount
1	Indian Express	one	5.00/6.00 on Sunday	30	154.00
2	Times of India	one	4.00/5.00 on Sunday	30	124.00
3	Telegraph	one	5.00/6.50** on wed, 6.00 on Sunday	30	161.50
4	Hindu	one	8.00/15.00 on Sunday	30	268.00
5	Dharitri (Odia)	one	5.00 Daily	30	122.00
6	Pioneer	one	3.00 per day	30	90.00
7	Samaj (Odia)	one	5.00/5.00 on Sunday	30	145.00
8	Statesman	one	5.00/5.00 on Sunday	30	150.00
9	Economics Times	Four	3.50/ 10.00 sat & sun	120	
10	Business Line	Four	8.00 per day –Sunday holiday	104	628.00
11			6.00/ 9.00 Saturday		832.00
Eleven Newspapers		0.007 7.00 Saturt		104 Total Amount	672.00 - 3379.0

Hostel Building

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Business Standard	Five	6.00/9.00 Saturday Sun-Holiday	130	168.00*5 = 840.00	Each floor common
22.11.	or's office to sta	1.2017 as rt 5 more cop	confirmation from	40	51.00*5= 255.00	room of Hostel Building
2	Economic Times	Five	3.50/10.00 on Sat & Sun	145	157.00*5 = 785.00	Each floor common
	or's office to star	rt 5 more cop		40	44.50**5= 222.50	room of Hostel Building
Two	Newspapers	10 Copies	from 22 ND Nov 20 copies	Total Amoun		

MDP Building Newspaper for NIPM Programme from 9th Nov to 12th Nov

S. No	Newspaper	Copies subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	Three	4.00 & 5.00	12	51.00	MDP Building
2	Economic Times	Three	3.50 10.00 on Sat	12	81.00	MDP Building
Fo	ur Newspapers	6 Copies		Total Amount -	132.00	

MDP Building Newspaper for BDE Induction Axis Bank Programme from 20th Nov to 25th Nov

S. No	Newspaper	Copies subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	two	4.00	12	48.00	MDP Building
2	Dharitri (Odia)	two	5.00	12	60.00	MDP Building
3	Sambad (Odia)	two	5.00	12	60.00	MDP Building
4	Economic	two	3.50	12	55.00	MDP Building
	Times		10.00 on Sat	**		
Fo	ur Newspapers	8 Copies		Total Amount -	223.00 /	

Therefore, total amount for all sections where newspaper received as per requirement.

1.	Administration - 997.50	
2.	Library - 3379.00	
3.	Hostel Building - 2102.50	
4.	MDP Building - 355.00	- (132.00 + 223.00)
	Grand Total - 6834.00	

The monthly bills for the month of November is attached for kind reference.

<u>Total amount Rs. 6834.00/-</u> (Rupees Six Thousand Eight Hundred and Thirty Four only.)

It is submitted for kind approval for payment of **Rs. 6834.00-** (Rs. Six Thousand Eight Hundred and Thirty Four only) to **Mr. Pabitra Mohan Mohapatra**, the newspaper vendor for the above month.

Enclosed: - Newspaper Bill, Email to arrange newspaper for MDP and email to start one copy of Business standard & the economic times for each common rooms of Hostel Building (In hostel Building 5 common rooms are available).

Arvind Negi Initiator Mr. Pranab Ghosh **Manager- F & A** Mr. Arup Sil

R. G. Choudhury
Prof. R. G. Choudhury
Chairperson – Library

Chairperson - Purchase

CASH/CREDIT MEMO Mob.: 9439301398

PABITRA MOHAN MOHAPATRA

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3 **NEWS PAPER AGENCY**

Bhubonelaur-03. College M.D.P. SI. No. Tothatatons

Bill for the Month of NOVEMBER - 2017

48 88 8 8 8 8 TOTAL 355 80 AMOUNT F(9 0 Rs. CHIR 20 TO 25 (2 cm - 5 CA CALL - 5 CAL Hindu ET 2470 & Gory XIO WAS Rate 12 SECTION X 4.00 M Hmes of India Reach & 4 voor Tolograph Swy143 X S to F 1291 Sat 2017 & 10:00 -B. Dues Det 91012. **PARTICULARS** Indian Express 7.07

(Rupees).....

Date:

Cash Payment Date

Blossen molumoladota Signature

CASH/CREDIT MEMO Mob.: 9439301398 PABITRA MOHAN MOHAPATRA

NEWS PAPER AGENCY

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3

Date

SI. No.

D. Embone gear 20/18ge Whomay

Bill for the Month of No Wemberr 2017

Ç	SACTION O	AMOUNT
	LANICOEANS	Rs. P.
	B. Bues B. B.	25400
	hadian Express	2017
	Firmesoffinalia	11/2
\$		
	1 208.884 LETT	8338
	राज्यका	
	a desiration of the second of	<i>C</i>
	S	
	खिस्पुक	•
	ON CHARGE OF THE PARTY OF THE P	
		٠,
	TOTA	TOTAL 3279CT

(Rupees)

Date:

Cash Payment Date

Folker molen mented Signature CASHICREDITMEMO

Mob.: 9439301398

PABITRA MOHAN MOHAPATRA NEWS PAPER AGENCY

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3

2 Thickway sevan Bill for the Month of No Vembes - 2017 Cithalatana Date

3/400 AMOUNT TOTAL 997 S 19 Rs. acto Floromoly Tones -157-wash Rate 124.00×3R-PARTICULARS SPECITOPONIA Times of India Indian Express Telegraph L SHSHS-B B-Dues क्षिट्रिप्ट SPIRE 30 00 30 Onto: 06

(Rupees).. Date: Cash Payr. t Date

Fabria motion motioner. Signature

CASH/CREDIT MEMO Mob.: 9439301398

PABITRA MOHAN MOHAPATRA **NEWS PAPER AGENCY**

aferra GHATIKIA, KALINGANAGAR, BHUBANESWAR-3 SI. No. Dafe

Bill for the Month of NOVember, 9017

Rossing aungry

John Fatoma

F	۵.		8		3		S		6		100
AMOUNT	Rs.	1000	785 m	. 0	s ot x		223		355 m	/	TOTAL 2/02 50
Date	Marc	A JANUARY	5PC-	Ź	SPC	Ja .	100		L ₁		TOTAL
		B. Bues -Conomist Tonk-	median Express 157100 XSR-	Times of India	Finds Spain Bank Start	and + Economica Tong - 5 R	22	GERALD BUSINS SAMLY	Strong Strong Sports		
Ont		150	. 1	**	4		4	2			

(Rupces).

20

Date:

Cash Payment Date

Jakoban molin makefator Signature





Shaping global leaders for tomorrow

Ref: IMIB:Lib17/47 Date: 08.11.2017

APPROVAL FOR PAYMENT

Sub: Approval for Newspaper bills for the month of October 2017.

The Newspaper bills for the month of October, 2017 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block, Library, Hostel Building & MDP Building) are detailed as follows:

Administration

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	three	Daily 4.00 Sunday 5.00	87	120*3 = 360.00	Front Office, Director Office, Guest Area - Admin
2	Telegraph	one	Daily 5.00 Wed 6.50 Sun 6.00	29	140.00	Front Office
3	Dharitri (Odia)	one	4.00/ 5.00* on Sunday & 2 sat.	29	122.00	Front Office
4	Economic Times	two	3.50/10.00 on Sat & Sun	58	153.50*2 = 307.00	Front Office, Director Office
Fo	our Newspapers	7 Copies		Total Amo	unt - 929.0	0 ,

	Library	Copies Subscribed	Price per day	Copies Received	Amount
S. No	Newspaper		5.00/6.00 on Sunday	29	149.00
1	Indian Express	one		29	120.00
2	Times of India	one	4.00/5.00 on Sunday		140.00
3	Telegraph	one	5.00/6.50** on wed, 6.00 on Sunday	29	140.00
4	III do	one	8.00/15.00 on Sunday	29	260.00
4	Hindu		4.00/ 5.00* on Sunday	29	122.00
5	Dharitri (Odia)	one	3.00 per day	29	87.00
6	Pioneer	one		29	145.00
7	Samaj (Odia)	one	5.00/5.00 on Sunday		145.00
8	Statesman	one	5.00/5.00 on Sunday	27	
9	Economics Times	Four	3.50/10.00 sat & sun	116	614.00
		Four	8.00 per day -Sunday holiday	116	648.00
10	Business Line		6.00/ 9.00 Saturday	112	800.00
11	Business Standard Eleven Newspapers	Four Twenty Copies	holiday on Sunday	Total Amour	it - 3230.0

^{*}Dharitri (odia) price Rs. 5.00 (two Saturday)

Hostel Building

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Business Standard	Five	6.00/ 9.00 Saturday Sun- Holiday	145	153.50*5 = 767.50	Each floor common room of Hostel Building
2	Economic Times	Five	3.50/10.00 on Sat & Sun	145	162.00*5 = 810.00	Each floor common room of Hostel Building
T	wo Newspapers	10 Copies		Total Amount	- 1577.50	

MDP Building Newspaper for BED Induction Axis Bank Programme

S. No	Newspaper	Copies subscribed	Tauction Axis Dai	ik Programme from	23rd Oct to 2	8th Oct
1	Times of India		Price per day	Copies Received	Amount	Description
			4.00	12		
	Dharitri (Odia)		4.00	12		MDP Building
3	Sambad (Odia)	two	5.00			MDP Building
4	Economic	two	3.50	12	60.00	MDP Building
	Times		3.50 10.00 on Sat	12		MDP Building
For	ur Newspapers	8 Copies		Total American		
				Total Amount - 19	8.00 /	

Therefore, total amount for all sections where newspaper received as per requirement.

1. Administration - 929.00	
2. Library - 3230.00	
3. Hostel Building - 1577.00	
4. MDP Building - 198,00	
Grand Total - 5934.00 /	

(Rupees Five Thousand Nine Hundred and Thirty Four only.)

Round off Total amount Rs. 5934.00/-

The monthly bills for the month of October is attached for kind reference.

It is submitted for kind approval for payment of Rs. 5934.00- (Rs. Five Thousand Nine Hundred and Thirty Four only) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor for the above month.

Enclosed: - Newspaper Bill and Email to arrange newspaper for MDP

Initiator

Mr. Pranab Ghosh Manager-F&A

Mr. Arup Sil CAO

R.G. Choudhury Prof. R. G. Choudhury Chairperson - Library

Prof. R. K. Panigrahi Chairperson - Purchase

CASH/CREDIT MEMO Mob.: 9439301398

PABITRA MOHAN MOHAPATRA NEWS PAPER AGENCY

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3

Date 08-11-2017-

College Ha

Bill for the Month of Ochober 2017

studoreto

(Rupees).....

Cash Payment Date

P. Signature

CASH/CREDIT MEMO Mob.: 9439301398

PABITRA MOHAN MOHAPATRA

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3
Date O8 - 11-20 7

The Men Si. No.

Bill for the Month of Orch bed.

200			AMOUNT	_
5	FARICOLARS	Kate	Rs.	۵
30	Br Bues Stated Many		14S	8
S	Indian Express		9	8
90	Times of India		- Sp	8
of of	Telegraph 1		6.	8
BB	Hindu 1	71	25	36
30	ମଣିତ୍ରୀ L		8-00e	3 €
	खुलाकु सम्बद्ध	* **	8	10
00	Spile		145	8
000	gena Pronees		400	81
\\ \=	Frommos Tork		4	8
<u></u>	PANSOS SOXAP	1	148	8
00/	- B. stonzunz-/62.ax48c=	460	90	8
5	Con Busher Jan Jan 8489	200	6	
20	6	LOTAL	TOTAL 2920A	#

(Rupees).....

Cash Payment Date

Date:

Signature

CASH/CREDIT MEMO | Mob.: 9439301398

Pabitra Mohan Mohapatra

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3 NEWS PAPER AGENCY

Sin Date [18-11/7]

AMOUNT TOTAL 929 Rate Bill for the Month of Choper 1 120 dx BRC PARTICULARS Times of India ledian-Express Telegraph 1 8. Dues SISSIS O CIPIES T enally. BENS. ଧରିତ୍ରୀ (Hamde |Qnty. O

(Rupees)

Date:

Cash Payment Date.

CASH/CREDIT MEMO Mob.: 9439301398

PABITRA MOHAN MOHAPATRA

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3 NEWS PAPER AGENCY

Date 08~11-2014

SI. No

Bill for the Month of 184 43 to 98

AMOUNT TOTAL Rate Sisk PARTICULARS 8.4× 83.SG BARA CONUMA TOWN Times of India Indian Express **Releginably** B. Dues Efficiency ଧରିତ୍ରୀ । ସମାଦ

(Rupees

Cash Payment Date



Shaping global leaders for tomorrow

Ref: IMIB:Lib17/43 Date: 23.10.2017

APPROVAL FOR PAYMENT

Sub: Approval for Newspaper bills for the month of September 2017.

The Newspaper bills for the month of September, 2017 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block, Library & Hostel Building etc.) are detailed as follows:

Administration

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount	Description	
1	Times of India	three	Daily 4.00 Sunday 5.00	87	120*3 = 360.00	Front Office, Director Office, Guest Area - Admin	
, 2	Telegraph one D		Daily 4.00 Wed 5,50 Sun5.00	27	118.00	Front Office	
3	Dharitri (Odia)	one	4.00/ 5.00* on Sunday & 2 sat.	29	123.00	Front Office	
4	Economic Times	two	3.50/10.00 on Sat & Sun	58	174.00*2 = 348.00	Front Office, Director Office	
Fo	ur Newspapers	7 Copies		Total Amou	int - 949.00) ,	

Library

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount
1	Indian Express	one	5.00/6.00 on Sunday	29	149.00
2	Times of India	one	4.00/5.00 on Sunday	29	120.00
3	Telegraph	one	4.00/5.50** on wed,	27	118.00
			5.00 on Sunday		
4	Hindu	one	8.00/15.00 on Sunday	29	260.00
5	Dharitri (Odia)	one	4.00/ 5.00* on Sunday	29	123.00
6	Pioneer	one	3.00 per day	29	87.00
7	Samaj (Odia)	one	4.00/5.00 on Sunday	29	145.00
8	Statesman	one	5.00/6.00 on Sunday	27	135.00
9	Economics Times	Four	3.50/10.00 sat & sun	116	696.00
10	Business Line	Four	8.00 per day -Sunday holiday	116	928.00
11	Business Standard	Four	6.00/ 9.00 Saturday	112	720.00
F	Eleven Newspapers	Twenty Copies	holiday on Sunday	Total Amoun	t - 3481.00

^{*}Dharitri (odia) price Rs. 5.00 (two Saturday)

Hostel Building

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Business Standard	Five	6.00/ 9.00 Saturday Sun- Holiday	140	180.00*5 = 900.00	Each floor common room of Hostel Building
2	Economic Times	Five	3.50/10.00 on Sat & Sun	145	174.00*5 = 870.00	Each floor common room of Hostel Building
Ty	wo Newspapers	10 Copies		Total Amount	- 1770.00	-

Therefore, total amount for all sections where newspaper received as per requirement.

1. Admini	stration - 949.00 ✓	
2. Library	- 3481.00 /	
3. Hostel	Building - 1770.00	
Grand	Total - 6200.00	

(Rupees Six Thousand Two Hundred only.)

Round off Total amount Rs. 6200.00/-

The monthly bills for the month of September is attached for kind reference.

It is submitted for kind approval for payment of Rs. 6200.00- (Rs. Six Thousand Two Hundred only) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor for the above month.

Enclosed: - Newspaper Bill

Arvind Negi **Initiator**

Mr. Pranab Ghosh Manager- F & A

Mr. Arup Sil CAO

R.G. Choudking Prof. R. G. Choudhury Chairperson - Library

Mob.: 9439301398 SITRA MOHAN MOHAPATRA CASH/CREDIT MEMO

TIKIA, KALINGANAGAR, BHUBANESWAR-3

SI. No.

NEWS PAPER AGENCY

B. Kubone gewen the Month of September 3017

AMOUNT 948 Rs. Rate 174.00x5pd= Harden Florent Toms CONTROL BURNING STOWNER TO X S PC **PARTICULARS** ndian Express Amescof-India Blograph BADUS.

CHANGE. GEORG

900

180.00×5Pd=

lees).... h Payment Date

Chymhmel & Signature

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3 **NEWS PAPER AGENCY** Bill for the Month of Sephember Tabograph Conomy (Tomal & White ACX 144.00 Acx 180.00 CHEST STATE STATES CANTA BUSING LINE a60/10 **PARTICULARS** Indian-Express lipnes of India B. Dues GERAL. 10 Date 16 Qnty. TOTAL 1775 B

Rs. P. 137 00

AMOUNT

Rate

(Rupees)..... Date: Cash Payment Date

Colod of worker falt

Mob.: 9439301398 CASH/CREDIT MEMO

CASHICREDIT MEMO Mob.: 9439301398

PABITRA MOHAN MOHAPATRA

PABITRA MOHAN MOHAPATRA **NEWS PAPER AGENCY**

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3

SI. No. Bhibonglood 26/10 Sothatatha

1. Varen

SI. No.

Bill for the Month of Septembers - 2017

AMOUNT W48 NNH Rs. Rate Date States man! **PARTICULARS** Indian Express L Fimes of India ₹ Felegraph 1 Brakes Hindu 1 ଧରିତ୍ରୀ 2/0/ Qnty. 90 99

(Rupees).....

E

TOTAL 3481

Cash Payment Date Date:

Signature

37.8

TOTAL

Bond Pooneed L

BISHOR

SPIGL

720 00

886

6960

CASH/CREDIT MEMO

Mob.: 9439301398

PABITRA MOHAN MOHAPATRA NEWS PAPER AGENCY

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3

Date	· · · · · · · · · · · · · · · · · · ·	SI. 140.		
To 7	MI College O	FECL	9	
-	the Patria Bhulo	nelev		
40	the Month of Seffem bear	201	7	
Bill for	COLD TO SELECT THE SEL	Rate	AMOUNT	
Qnty.	PARTICULARS	Rate	Rs.	P.
87	Process Indian Express Times of India 1 Telegraphical 2003P		360 -118	33
29	ଧରିତୀ		123	00
28	and 174.00 x g		318	
	ଘାସାନ୍ତର ଅପ୍ରାନ୍ତର			
		TOTAL	949	80

(Rupees).....

Date:

Cash Payment Date

Planlamoly Signature



Shaping global leaders for tomorrow

Ref: IMIB:Lib17/21 Date: 08.09.2017

APPROVAL FOR PAYMENT

Sub: Approval for Newspaper bills for the month of August 2017.

The Newspaper bills for the month of August, 2017 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block, Library, MDP Building & Hostel Building etc.) are detailed as follows:

Administration

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	three	Daily 4.00 Sunday 5.00	90	127*3 = 381.00	Front Office, Director Office, Guest Area - Admin
2	Telegraph	one	Daily 4.00 Wed 5.50 Sun5.00	30	130.00	Front Office
3	Dharitri (Odia)	one	4.00/ 5.00* on Sunday & 2 sat.	30	126.00	Front Office
4	Economic Times	two	3.50/10.00 on Sat & Sun	60	157.00*2 = 314.00	Front Office, Director Office
Fo	our Newspapers	7 Copies		Total Amo	unt - 951.0	0

C 11	Library	Copies Subscribed	Price per day	Copies Received	Amount
S. No	Newspaper		5.00/6.00 on Sunday	30	154.00
1	Indian Express	one		30	127.00
2	Times of India	one	4.00/5.00 on Sunday	30	130.00
3	Telegraph '	one	4.00/5.50** on wed, 5.00 on Sunday	30	
	TT' J.,	one	8.00/15.00 on Sunday	30	268.00
4	Hindu		4.00/ 5.00* on Sunday	30	126.00
5	Dharitri (Odia)	one	3.00 per day	30	90.00
6	Pioneer	one		30	150.00
7	Samaj (Odia)	one	4.00/5.00 on Sunday	30	150.00
8	Statesman	one	5.00/6.00 on Sunday		464.00
9	Economics Times	Two/Four	3.50/ 10.00 sat & sun	74	
	Business Line	Four	8.00 per day -Sunday holiday	104	832.00
10			6.00/9.00 Saturday	64	492.00
		Business Standard Two/Four 6.0 hol		Total Amount - 2983.0	

*Dharitri (odia) price Rs. 5.00 (two Saturday)

MDP Building from 7th August to 12th August & 30th, 31st August /1st September

		C -i subscribed		Copies Received	Amount	Description
S. No		Copies subscribed		12	48.00	MDP Building
1	Times of India	two	4.00	12	48.00	MDP Building
2	Dharitri (Odia)	two	4.00	12		MDP Building
3	Samaj(Odia)	two	5.00	12	60.00	
1	Economic	two	3.50	12	55.00	MDP Building
4	·		10.00 on Sat	(2 Saturday)		
	Times	30/28/28	4.00	86	344.00	MDP Building
5	Times of India		7.00	Total Amount - 55	5.00/	
Fo	ur Newspapers	8 Copies		Total Amount Sc	701007	

Hostel Building

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Business Standard	Five	6.00/ 9.00 Saturday Sun- Holiday	130	168.00*5 = 840.00	Each floor common room of Hostel Building
2	Economic Times	Five	3.50/10.00 on Sat & Sun	150	157.00*5 = 785.00	Each floor common room of
Two Newspapers		10 Copies		Total Amount		Hostel Building

Therefore, total amount for all sections where newspaper received as per requirement.

1. Administration	- 951 00	
2. Library	- 2983.00	
3. MDP	- 555.00	
4. Hostel Building	- 1625.00 /	
Grand Total	-6114.00 √	

(Rupees Six Thousand One Hundred and Fourteen only.) Round off Total amount Rs. 6114.00/-

The monthly bills for the month of August is attached for kind reference.

It is submitted for kind approval for payment of Rs. 6114.00- (Rs. Six Thousand One Hundred and Fourteen only) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor

Enclosed: - Newspaper Bill, Newspaper daily report, email from Admin dept. for MDP

Arvind Negi Initiator

Mr. Pranab Ghosh Manager-F&A

Mr. Arup Sil CAO

Prof. R. K. Panigrahi

Chairperson - Library/Purchase

Som Market Cash Payment Date Date (Rupees).... 2 JATOT **ক্টিডি** BUSS 811313 STONOUGH ONE NGGI 08 2 986 ripuya 20 06 Telegraph 051 188 Times of India Indian Express Bugges Rs. PARTICULARS THUOMA Bill for the Month of PLESAL Date CHATIKIA, KALINGANAGAR, BHUBANESWAR-3 NEWS PAPER AGENCY **РАВІТЯЯ МОНЯИ МОНЯРЯТВЯ** CYZH,CKEDILWEWO MOP: 8436301388

Mob.: 9439301398 GP CY NNESWAR-3		1	AMOUNT	8448248 244888 6866688 868 888
MOHE MOHE BHUBA	SI No.	200 July 200	Rate	Service Control of the Control of th
dBITRA MOHAN MOHAPATRA NEWS PAPER AGENCY GHATIKIA, KALINGANAGAR, BHUBANESWAR-3	m Callege Lil	The Ball	Gnty: PARTICULARS	Br Buse Statedman Indian Express
F 5	Date To	g !	Onty.	अअध्यय अधि स्टि प्र

CASHICREDIT MEMO Mob.: 943 GHATIKIA, KALINGANAGAR, BHUBANESWA MABITRA MOHAN MOHAPAT NEWS PAPER AGENCY Date: onch 30

多にしているとはは、中国の大田

CH

Cash Payment Date



Shaping global leaders for tomorrow

Ref: IMIB:Lib17/12 Date: 04.08.2017

APPROVAL FOR PAYMENT/APPROVAL

Sub: Approval for Newspaper bills for the month of July. 2017.

The Newspaper bills for the month of July, 2017 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block, Library, MDP Programme & Hostel Building etc.) are detailed as follows:

Administration

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	three	Daily 4.00 Sunday 5.00	93	129*3 = 387.00	Front Office, Director Office, Guest Area - Admin
2	Telegraph	one	Daily 4.00 Wed 5.50 Sun5.00	31	135.00	Front Office
3	Dharitri (Odia)	one	4.00/ 5.00* on Sunday & 2 sat.	31	131.00	Front Office
4	Economic Times	two	3.50/10.00 on Sat & Sun	62	173.50*2 = 347.00	Front Office, Director Office
Fo	ur Newspapers	7 Copies		Total Amo	unt - 1000.0	00

Library

S. No	Newspaper	Copies Subscribed	Price per day	Copies Received	Amount
1	Indian Express	one	5.00/6.00 on Sunday	31	160.00
2	Times of India	one	4.00/5.00 on Sunday	31	129.00
3	Telegraph	one	4.00/5.50** on wed,	31	135.00
			5.00 on Sunday		
4	Hindu	one	8.00/15.00 on Sunday	31	283.00
5	Dharitri (Odia)	one	4.00/ 5.00* on Sunday	31	131.00
6	Pioneer	one	3.00 per day	31	93.00
7	Samaj (Odia)	one	4.00/5.00 on Sunday	31	155.00
8	Statesman	one	5.00/6.00 on Sunday	31	155.00
9	Economics Times	four	3.50/ 10.00 sat & sun	124	694.00
10	Business Line	four	8.00 per day -Sunday holiday	54	432.00
11	Business Standard	four	6.00/ 9.00 Saturday	104	684.00
Eleven Newspapers Twenty Copies		holiday on Sunday	Total Amount - 3051.0		

^{*}Dharitri (odia) price Rs. 5.00 (two Saturday)

MDP Building from 3rd July to 8th July

S. No	Newspaper	Copies subscribed	Price per day	Copies Received	Amount	Description
1	Times of India	two	4.00	12	48.00	MDP Building
2	Dharitri (Odia)	two	4.00	12	48.00	MDP Building
3	Samaj(Odia)	two	5.00	12	60.00	MDP Building
4	Economic	two	3.50	12	55.00	MDP Building
	Times		10.00 on Sat	(2 Saturday)		
Four Newspapers 8 Copies			Total Amount - 21	1.00		

Hostel Building

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Business Standard	Five	6.00/ 9.00 Saturday Sun- Holiday	130	171*5 = 855.00	Each floor common room of Hostel Building
2	Economic Times	Five	3.50/10.00 on Sat & Sun	155	173.50*5 = 867.50	Each floor common room of Hostel Building
Tv	wo Newspapers	10 Copies		Total Amount	- 1722.50	

Therefore Total amount for all sections where newspaper received as per requirement.

1.	Administration	- 1000.00
2.	Library	- 3051.00 /
3.	MDP	- 211.00 /
4.	Hostel Building	- 1722.50
	Grand Total	- 5984.50

(Rupees Five Thousand Nine Hundred and Eighty eight only.)

Round off Total amount Rs. 5984.00 /-

The monthly bills for the month of July is attached for kind reference.

It is submitted for kind approval for payment of **Rs. 5984.00-** (Rs. Rupees Five Thousand Nine Hundred and Eighty eight only) to **Mr. Pabitra Mohan Mohapatra**, the newspaper vendor for the above month.

Arvind Negi Initiator Mr. Pranab Ghosh Manager- F & A Mr. Arup Sil

Prof. R. K. Panigrahi
Chairperson - Library/Purchase



Shaping global leaders for tomorrow

Ref: IMIB:Lib17/7 Date: 20.07.2017

APPROVAL FOR PAYMENT/NOTE FOR APPROVAL

Sub: Approval for Newspaper bills for the month of June, 2017.

The Newspaper bills for the month of June, 2017 submitted by Mr. Pabitra Mohan Mohapatra. Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block & Library etc.) are detailed as follows:

Administration

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Times of India	three	4.00/5.00 on Sunday	90	124*3 = 372.00	Front Office, Director Office, Guest Area - Admin
2	Telegraph	one	3.00 per day	30	130.00	Front Office
3	Dharitri (Odia)	one	4.00/ 5.00* on Sunday	30	126.00	Front Office
4	Economic Times	two	3.50/10.00 on Sat & Sun	60	314.00	Front Office, Director Office
Fo	ur Newspapers	7 Copies		Total Amoun	t - 942.00	

Library

S. No	Newspaper	Copies Subscribed	Price per day	Total Copies Received	Amount
1	Indian Express	one	5.00/6.00 on Sunday	30	154.00 ~
2	Times of India	one	4.00/5.00 on Sunday	30	124.00 -
3	Telegraph	one	4.00/5.00 on Sunday	30	130.00 -
4	Hindu	one	8.00/15.00 on Sunday	30	268.00 /
5	Dharitri (Odia)	one	4.00/ 5.00* on Sunday	30	126.00 -
6	Pioneer	one	3.00 per day	30	90.00 /
7	Samaj (Odia)	one	4.00/5.00 on Sunday	30	124.00 /
8	Statesman	one	5.00/6.00 on Sunday	30	150.00 /
9	Economics Times	two	3.50/ 10.00 sat & sun	60	314.00 /
10	Business Standard	two	6.00/ 9.00 Saturday	52	336.00
Ten Newspapers Twelve Copies		Twelve Copies	no paper on Sunday	Total Amount - 18	

*Dharitri (odia) price Rs. 5.00 (two Saturday)

(Rupees Two Thousand Seven Hundred and Fifty eight only.) Total amount Rs. 2758 /-The monthly bills for the concerned month are attached for kind reference.

It is submitted for kind approval for payment of Rs, 2758- (Rs. Two Thousand Seven Hundred and Fifty eight only) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor for the above month.

Arvind Negi

Initiator

Manager- F & A

Prof. R. K. Panigrahi

Chairperson - Library/Purchase

Mr. Pranab Ghosh

Mr. Arup Sil

CAO

		NO PERSONAL PROPERTY.	
	Mol	9439301398 GTRA	55
ABITRA MO	REDITIVIE	Barre	
TRITRA MO	APER AGENC APER AGENC ANAGAR, BHUB	NESWAR-3	Tar Wall
VALING	SI	10.	
GHATIKIA, KALING	+ aft	CF JON	
Date DAT COL	ege olub	onco	
To The Cathala	True go	Rate Rs. P	
Bill for the Month.	ARTICULARS		
		Vape - 372	80
Indian	Express 124 m of India 120 X 16	() 12C	500
I Lal Teles			
30 Hind	@1 \	Tomes - 31	4 101
1 To 1 CIS	and Economics 1	oxak /.	
	4EC/WB		
	ପାପ୍ତାହିକ	TOTAL	942 19
\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \		12	June I was
			Signature
(R	upees)ate	ite	
D	ate : Cash Payment Da		



CASH/CREDIT MEMO Mob.: 9439301398 ABITRA MOHAN MOHAPATRA NEWS PAPER AGENCY

GHATIKIA, KALINGA NAGAR, BHUBANESWAR-3

Date 30-06-3017	SI. No
To TMI College	o Lobrary
To Gothafatona	Bhubanekor -
Comajarana	- 0014

Bill for the Month of Jank

Bill for	the Month of	Rate	AMOUNT
Qnty.	PARTICULARS	Naus	Rs. P.
30 30 30 30 30 30 30 30 30 30 30 30 30 3	Times of India 1 Telegraph L Hindu L Honor for Jodia Diagram Prometo 8	5	154 00 00 00 00 00 00 00 00 00 00 00 00 00

(Rupees).....

Date:

Cash Payment Date



Shaping global leaders for tomorrow

Ref: IMIB:Lib17/7 Date: 20.07.2017

APPROVAL FOR PAYMENT/NOTE FOR APPROVAL

Sub: Approval for Newspaper bills for the month of June, 2017.

The Newspaper bills for the month of June, 2017 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia Kalinga Nagar towards supply of daily newspapers to our Institute (Administration Block & Library etc.) are detailed as follows:

Administration

S. No	Newspaper	Copies Received	Price per day	Total Copies Received	Amount	Description
1	Times of India	three	4.00/5.00 on Sunday	90	124*3 = 372.00	Front Office, Director Office, Guest Area - Admin
2	Telegraph	one	3.00 per day	30	130.00	Front Office
3	Dharitri (Odia)	one	4.00/ 5.00* on Sunday	30	126.00	Front Office
4	Economic Times	two	3.50/10.00 on Sat & Sun	60	314.00	Front Office, Director Office
Fo	ur Newspapers	7 Copies		Total Amoun	t - 942.00	

Library

S. No	Newspaper	Copies Subscribed	Price per day	Total Copies Received	Amount
1	Indian Express	one	5.00/6.00 on Sunday	30	154.00 -
2	Times of India	one	4.00/5.00 on Sunday	30	124.00 -
3	Telegraph	one	4.00/5.00 on Sunday	30	130.00 -
4	Hindu	one	8.00/15.00 on Sunday	30	268.00 /
5	Dharitri (Odia)	one	4.00/ 5.00* on Sunday	30	126.00 -
6	Pioneer	one	3.00 per day	30	90.00 /
7	Samaj (Odia)	one	4.00/5.00 on Sunday	30	124.00 <
8	Statesman	one	5.00/6.00 on Sunday	30	150.00 /
9	Economics Times	two	3.50/ 10.00 sat & sun	60	314.00 /
10	Business Standard	two	6.00/ 9.00 Saturday	52	336.00 ~
	Ten Newspapers	Twelve Copies	no paper on Sunday	Total Amoun	t - 1816.00

*Dharitri (odia) price Rs. 5.00 (two Saturday)

(Rupees Two Thousand Seven Hundred and Fifty eight only.) Total amount Rs. 2758 /-The monthly bills for the concerned month are attached for kind reference.

It is submitted for kind approval for payment of Rs, 2758- (Rs. Two Thousand Seven Hundred and Fifty eight only) to Mr. Pabitra Mohan Mohapatra, the newspaper vendor for the above month.

Arvind Negi

Initiator

Mr. Pranab Ghosh

Manager- F & A

Mr. Arup Sil

CAO

Prof. R. K. Panigrahi

Chairperson - Library/Purchase

CASH/CREDIT MEMO Mob.: 9439301398

PABITRA MOHAN MOHAPATRA **NEWS PAPER AGENCY**

GHATIKIA, KALINGA NAGAR, BHUBANESWAR-3

		II S			
30	Qnty.	Bill for		Date	
B Dues Indian Express GO Times of India L124 or X 3 pc =	PARTICULARS	Bill for the Month of Trans. 24	Jetha Potera Rhu	Date 30-062017	
3/6=	Rate	77	bonelo	SI NO	
- 272 273 28	AMOUNT Rs.		Tax.		
33	P				

0 00	1200					3 % E
(Rupe Date Cash			0		5 (S)	00
(Rupees) Date: Cash Payment Date		ସାପାହିକ	BENEW 124.00 X 3/10-	SU VAREI COMMINICATION A	Telegraph L_13o X / /2- Hindu	Times of India 1124 00 X 3/6-
	TATOT	u Maria sa	1			3/6-
Signature Signature	TOTAL 942		3)4	1260	150 pp	67-67-62 124-62-63-63-63-63-63-63-63-63-63-63-63-63-63-
E S	8		3	00	8	9
1						

Date:

(Rupees)...

Cash Payment Date

/Signature

PABITRA MOHAN MOHAPATRA CASH/CREDITMEMO Mob.: 9439301398

NEWS PAPER AGENCY

GHATIKIA, KALINGANAGAR, BHUBANESWAR-3

ABOVE STATE					SI SI
3868	ગેલાયું જ હ્યું લ	S Supp	Sill for	87 1)ate
Business Standor-1680 XJR-	Telegraph L Hindu L VIGEIL (Dhan) +-) odua BENO Promeso y CICIIO L Semonta h II.	B. Dues Indian Express L	Bill for the Month of	18	Date 3006-2017
TOTAL		X au	1	Bhubaneko	SI No.
NEA ST 10 10 10 10 10 10 10 10 10 10 10 10 10	130 120 120 120 120 120 120 120 120 120 12	Rs. P. 124 90	AMOUNT		
CHIEF THE PARTY OF	CONTRACTOR OF THE PARTY OF THE	TITLE OF STREET AND STREET AND STREET	40-10-10-10-10-10-10-10-10-10-10-10-10-10	THE RESERVE OF THE PARTY.	ACTION AND A SECOND



Ref: IMIBH/LIBRARY/ 2017 Date: 08.06.2017

NOTE FOR APPROVAL

Sub: Approval for Newspaper bills for the month of May, 2017.

The Newspaper bills for the month of May 2017 submitted by Mr. Pabitra Mohan Mohapatra, Ghatikia, Kalinga Nagar towards supply of daily newspapers to our Institute (Library & Administration Block etc.) are detailed as follows:

5 11	Admin	Library	Total Amount	
For the month	Block (Rs.)	(Rs.)	(Rs.)	
May	943 /	1793 /	2736.00	

Total amount Rs. 2736/-

(Rupees Two Thousand Seven Hundred Thirty Six only)

The monthly bills for the concerned month are attached for kind reference.

It is submitted for kind approval for payment of Rs. 2736/- (Rupees Two Thousand Seven Hundred Thirty Six only) to Mr. Prabitra Mohan Mohapatra, the newspaper vendor for the above month.

(Nasima Begum)

Manager-F&A (Pranab Ghosh)

(Arup Kumar Sil)

(Chairperson-Purchase)

NEWS PAPER AGENCY Telegraph | व्यताल् Budues **JIOGIT** Hindu Rupees) Date. 30 Onty. Signature CASHICREDIT MENO Moh: 9489301398 TOTAL 943 20 KIA, KALINGANAGAR, BHUBANESWAR-3 TREADURING MORGING AMOUNT Rs. NEWSPAPERAGENCY Rate mes of India (124X3) PARTICULARS 6/00-20 Handkoress Sulfing 1 yment Date Month of legraph (Paries ରିତ୍ରୀ 🏻 SPICE STORE

CASH/CREDITMENO Mob. 945930150 · PABITRA MOHAN MOHAPA GHATIKIA, KALINGANAGAR, BHUBANESWAR, 3

Date Feeduli

TOTAL 1877 8 AMOUNT Rs. Collegano Apolonesses Rate 52/48 Bullinell stock CIRILE Statismon PARTICULARS Indian Express 1 Times of India

Cash Payment Date



Shaping global leaders for tomorrow

Ref: IMIBH: Library: 2017

Date: 10.05.2017

NOTE FOR APPROVAL

Sub. Approval for Newspaper bills for the month of April, 2017.

The Newspaper bills for the month of April, 2017 submitted by Mr. Pabitra Moham Mohapatra, Ghatikia, Kalinga Nagar towards supply of daily newspapers to our Institute (library & Administration Block etc.) are detailed as follows:

a i	ica as ionows.					
	For the month	MDP	Admin	Library	Total Amount	
		(Rs.)	Block(Rs.)	(Rs.)	(Rs.)	
	April 2017	165	901	1751	2817	

Total amount Rs. 2817 /-

(Rupees Two Thousand Eight Hundred and Seventeen only.)

The monthly bills for the concerned month are attached for kind reference.

It is submitted for kind approval for payment of Rs. 2817/- (Rs. Two Thousand Eight Hundred and Seventeen only.) to Mr. Prabitra Mohan Mohapatra, the newspaper vendor for the above month.

[Subrata K Seth]

Initiator

[Arvind Negi]

Dy. Librarian

[Arup Kumar Sil]

Administration

[Pranab Ghosh]

Manager- F & A

[Prof. R. K. Panigrah]
Chairperson-Purchase

Onty.

99.

900

Signature Signature

Date: 09 (Rupees)

のいと

CASHICREDITMEMO Mob. 94888011598

19762 (53.6%)

GHATIKIA, KALINGANAGAR, BHUBANESWARS Orlexa

Rs